
MATHS

BOOKS - ICSE

CHAPTERWISE REVISION (STAGE 1)

Rational And Irrational Numbers

1. Insert a rational number and an irrational number between 5 and 6.

Watch Video Solution

2. Insert two rational numbers and two irrational numbers between

Watch Video Solution

√3 and √8.

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_RtMrtF1XUR7h
https://dl.doubtnut.com/l/_eVTV45vu3RPy


3. Insert three irrational numbers between 5 and 7.

Watch Video Solution

4. State which of following real numbers are: 

 

rational 

(ii) irrational 

(iii) positive integers 

(iv) negative integers

Watch Video Solution

−8, 0, √5, , − √18, √32, 4.28, π, 3, − , 0.07
5

7

8

15

5. Examine whether the following numbers are rational or irrational : 

Watch Video Solution

(3 − √5)
2

https://dl.doubtnut.com/l/_eVTV45vu3RPy
https://dl.doubtnut.com/l/_68a3Z0XPvD8Q
https://dl.doubtnut.com/l/_sRcjJK5yYKV2
https://dl.doubtnut.com/l/_Ah43psUz5OAq


6. Examine whether the following numbers are rational or irrational : 

Watch Video Solution

(7 − √7)(7 + √7)

7. Examine whether the following numbers are rational or irrational : 

Watch Video Solution

(2√3 + 3√2)
2

8. Examine whether the following numbers are rational or irrational : 

Watch Video Solution

(2√3 − 3√2)(2√3 + 3√2)

https://dl.doubtnut.com/l/_Ah43psUz5OAq
https://dl.doubtnut.com/l/_mHAtNK3M5uJx
https://dl.doubtnut.com/l/_e31UtKilgTUB
https://dl.doubtnut.com/l/_D2CG3YDekqFe


9. Examine whether the following numbers are rational or irrational : 

Watch Video Solution

5√3 × √12

10. Write the least ( smallest ) rationlising factor of : 

Watch Video Solution

√12

11. Write the least ( smallest ) rationlising factor of : 

Watch Video Solution

2√12

https://dl.doubtnut.com/l/_lWjdXel2IeCN
https://dl.doubtnut.com/l/_Ew6aOobBjOW1
https://dl.doubtnut.com/l/_hqJdtHvrsQT1


12. Write the least ( smallest ) rationlising factor of : 

Watch Video Solution

√18

13. Write the least ( smallest ) rationlising factor of : 

Watch Video Solution

1

√5

14. Write the least ( smallest ) rationlising factor of : 

Watch Video Solution

√
2

3

https://dl.doubtnut.com/l/_Hz4vn6k9pwJg
https://dl.doubtnut.com/l/_Bo1cdxaEhSRU
https://dl.doubtnut.com/l/_ODcYGaOQ0EjX


15. Rationlise the denominator and simplify: 

Watch Video Solution

1

2 + √3

16. Rationlise the denominator and simplify: 

Watch Video Solution

3

4 − √3

17. Rationlise the denominator and simplify: 

Watch Video Solution

2

√5 + √3

https://dl.doubtnut.com/l/_qgnjLwjUu70a
https://dl.doubtnut.com/l/_SBWti2g4UuoJ
https://dl.doubtnut.com/l/_wglVNszoTQGr


18. Rationlise the denominator and simplify: 

Watch Video Solution

12√2

√3 + √6

19. Rationlise the denominator and simplify: 

Watch Video Solution

1

2√5 − √3

20. Rationlise the denominator and simplify: 

Watch Video Solution

√5 + √3

√5 − √3

21. Simplify: +
4 +  √5

4 − √5

4 −  √5

4 +  √5

https://dl.doubtnut.com/l/_rvTuZ66zLvok
https://dl.doubtnut.com/l/_iYSqVtspXz1I
https://dl.doubtnut.com/l/_IIcKUi6OI02g
https://dl.doubtnut.com/l/_Q6TcEXfb6mrN


Watch Video Solution

22. Simplify : 

Watch Video Solution

+
3

5 − √3

2

5 + √3

23. Simplify : 

Watch Video Solution

−
5 − √10

5 + √10

5 + √10

5 − √10

24. Simplify : 

Watch Video Solution

−
7

√17 − 2√3

3

√17 + 2√3

https://dl.doubtnut.com/l/_Q6TcEXfb6mrN
https://dl.doubtnut.com/l/_qcPxORcAUGoe
https://dl.doubtnut.com/l/_NQf2jMaOAMCb
https://dl.doubtnut.com/l/_iXP3BZRmZkyx
https://dl.doubtnut.com/l/_8wGuoy4QXx6D


25. Find the value of m and n : if : 

Watch Video Solution

= m + n√2
3 + √2

3 − √2

26. Find the value of m and n : if : 

Watch Video Solution

= m + n√3
5 + 2√3

7 + 4√3

27. By rationalising the denominator of each of the following : Find in

each case, the value correct to two significant figures : 

Watch Video Solution

1

3 − √2

https://dl.doubtnut.com/l/_8wGuoy4QXx6D
https://dl.doubtnut.com/l/_TflxCwgS3vTD
https://dl.doubtnut.com/l/_awItDWnXwcYd


Compound Interest

28. By rationalising the denominator of each of the following : Find in

each case, the value correct to two significant figures : 

Watch Video Solution

1

2 + √3

29. By rationalising the denominator of each of the following : Find in

each case, the value correct to two significant figures : 

Watch Video Solution

4

3√2 − 2√3

1. Calculate the compound interest on rupes 18,000 at 10 % per

annum in two years.

https://dl.doubtnut.com/l/_2SWJFJI5J6TV
https://dl.doubtnut.com/l/_bSNjk74KTbNq
https://dl.doubtnut.com/l/_HbsihaHIn5wd


Watch Video Solution

2. Manoj invest rupes 12,000 for 3 years at 10 % per annum . Calculate

the amount and the compound interest that Manoj will get at the

end of 3 years .

Watch Video Solution

3. A sum of rupes 1,536 , put at compund interest amounts to rupes

1,632 in one years How much would it amount to in the second year?

Watch Video Solution

4. Calculate the compound interest for the second year on rupes

12,000 invested for 3 year at 10 % per year. Also find the sum due at

the end of the third year.

Watch Video Solution

https://dl.doubtnut.com/l/_HbsihaHIn5wd
https://dl.doubtnut.com/l/_ffde2R5gn0qy
https://dl.doubtnut.com/l/_ES7iSgzVVCPb
https://dl.doubtnut.com/l/_aPs0cv5J3WSO


5. A certain sum . At compound interest, becomes rupes 7.396 in 2

year and rupes 7,950. 70 in 3 years Find the rate of interest.

Watch Video Solution

6. The value of a car is depreciating at 5% per year and is 3,15,875 afer

2 years . What was its original price?

Watch Video Solution

7. A sum of money is lent at 8% per annum compound interest. If the

interest for the second year exceeds that for the first year by rupes 32

, find the sum of money.

Watch Video Solution

https://dl.doubtnut.com/l/_aPs0cv5J3WSO
https://dl.doubtnut.com/l/_grqRNIt4fHed
https://dl.doubtnut.com/l/_fzo7hNJr2bOE
https://dl.doubtnut.com/l/_VI0UYYNfILed
https://dl.doubtnut.com/l/_LK6ac7Huenqn


8. A man invest rupes 7,000 for three years , at a certain rate of

interest , compounded annually At the end of one year it amount

rupes 7,980 Calculate 

the rate of interest per annum

Watch Video Solution

9. A man invest rupes 7,000 for three years , at a certain rate of

interest , compounded annually At the end of one year it amount

rupes 7,980 Calculate 

the rate of interest per annum

Watch Video Solution

10. A man invest rupes 7,000 for three years , at a certain rate of

interest , compounded annually At the end of one year it amount

https://dl.doubtnut.com/l/_LK6ac7Huenqn
https://dl.doubtnut.com/l/_G3apWtzda0rz
https://dl.doubtnut.com/l/_7aIPT5igJt9H


rupes 7,980 Calculate 

the amount at the end of the third year.

Watch Video Solution

11. 8,000 were invested at 5% per annum C.I. compounded annually .

Find : 

the amount at the end of the second year.

Watch Video Solution

12. 8,000 were invested at 5% per annum C.I. compound annually .

Find : 

the interest for the third year.

Watch Video Solution

https://dl.doubtnut.com/l/_7aIPT5igJt9H
https://dl.doubtnut.com/l/_jEGjISkcBWHW
https://dl.doubtnut.com/l/_ggfpqxdqACmD


13. Simple interest on a certain sum of money at 9% is rupees 450 in 2

years . Find the compound interest. On the same sum , at the same

rate for 1 year, if the interest is reckoned half yearly .

Watch Video Solution

14. Find the differnece between simple interest and compound

interest on rupes 4,000 and for two years at 10 % per annum .

Watch Video Solution

15. Simple interest on a certain sum of money for 3 years at 5% per

annum is rupes 600. find the amount due and compound interest on

this sum at the same rate after 3 years. The interest being reckoned

annually.

Watch Video Solution

https://dl.doubtnut.com/l/_7XGT8bxhGtW0
https://dl.doubtnut.com/l/_jNrEIRfRxP5I
https://dl.doubtnut.com/l/_xhSDZk5JXwSi


16. On what sum of money will the difference between simple interest

and compound interest for 2 years at 5% per annum be equal to

rupes 50?

Watch Video Solution

17. The difference between compound and simple interest on a sum

of money deposited for 2 years at 5% per annum is rupes 12 . Find the

sum of money.

Watch Video Solution

18. A man invests rupes 3000 for three years at compounds interest .

After one years . The money amount to rupes 3,240 find the rate of

interest and the amount (to the nearst rupee) due at the end of 3

years.

Watch Video Solution

https://dl.doubtnut.com/l/_niRylvYFhTnJ
https://dl.doubtnut.com/l/_gRNRfrOBFPJb
https://dl.doubtnut.com/l/_vYOGf2RxmglS


Watch Video Solution

19. A sum of rupe 4,0000 was lent for one year at 16% per annum . If

the same sum is lent for the same time and at the same rate percent

but compounds half-yearly , how much more will the interest be?

Watch Video Solution

20. Find the amount of 36,000 after 2 years, compounded annually,

the rate of interest being 10% for the first year and 12% for the

second year.

Watch Video Solution

21. Find, to the nearest rupee, the amount and the compound

interest on 9000 for  years at 8% per annum, the interest being

compounded half-yearly.

1
1

2

https://dl.doubtnut.com/l/_vYOGf2RxmglS
https://dl.doubtnut.com/l/_lcgPSaGPwlfd
https://dl.doubtnut.com/l/_RBiBO3al2pzv
https://dl.doubtnut.com/l/_VYJ4MiLXaI03


Watch Video Solution

22. The difference between the compound interest and the simple

interest acrued on an amount of 18,000 in 2 years is 405. Find the

rate of interest per annum

Watch Video Solution

23. The cost of a car, purchased 2 years ago depreciates at the rate of

20% per year. If its present value in 3,15,600, find : 

Its value , when it was purchased 2 years ago.

Watch Video Solution

24. The cost of a car, purchased 2 years ago depreciates at the rate of

20% per year. If its present value in 3,15,600, find : 

Its value , when it was purchased 2 years ago.

https://dl.doubtnut.com/l/_VYJ4MiLXaI03
https://dl.doubtnut.com/l/_OKrWyaL1YYdL
https://dl.doubtnut.com/l/_67RQYOwgjHw2
https://dl.doubtnut.com/l/_hIEqU7nkIJaw


Expansions

Watch Video Solution

1. If a  find 


Watch Video Solution

+ = 2,
1

a

a4 + 1

a2

2. If a  find 


Watch Video Solution

+ = 2,
1

a

a8 + 1

a4

3. If a -  find 

Watch Video Solution

= 3,
1

a
a2 + 3a + −

1

a2

3

a

https://dl.doubtnut.com/l/_hIEqU7nkIJaw
https://dl.doubtnut.com/l/_nHFXafybLnhb
https://dl.doubtnut.com/l/_rAt7DVi5R7e9
https://dl.doubtnut.com/l/_KU6t7aX49V60


4. If a+ b = 4 and ab =3 , find 

Watch Video Solution

+
1

b2

1

a2

5. If  find the values of , 

Watch Video Solution

x2 + = 7.
1

x2

x −
1

x

6. If  find the values of , 

Watch Video Solution

x2 + = 7.
1

x2

x +
1

x

https://dl.doubtnut.com/l/_KU6t7aX49V60
https://dl.doubtnut.com/l/_nD1LINz9HwBY
https://dl.doubtnut.com/l/_f0iKX1na6vb2
https://dl.doubtnut.com/l/_S0ivPh40lVBU


7. If  find the values of , 

Watch Video Solution

x2 + = 7.
1

x2

3x2 −
3

x2

8. If  find 

Watch Video Solution

a − = 5,
1

a
a2 + − 3a + .

1

a2

3

a

9. If  find 

Watch Video Solution

a + b = 7 and ab = 6, a2 − b2

10. If  and ab= 6 find: 

Watch Video Solution

a2 + b2 = 13

a + b

https://dl.doubtnut.com/l/_bB7Qldu7rRvC
https://dl.doubtnut.com/l/_3XnvTLUBWNne
https://dl.doubtnut.com/l/_z98d0OBUCcGm
https://dl.doubtnut.com/l/_kiI8g8I3vGhn


11. If  and ab= 6 find: 

Watch Video Solution

a2 + b2 = 13

a − b

12. If  and ab= 6 find: 

Watch Video Solution

a2 + b2 = 13

a2 − b2

13. If  and ab= 6 find: 

Watch Video Solution

a2 + b2 = 13

3(a + b)2 − 2(a − b)2

https://dl.doubtnut.com/l/_kiI8g8I3vGhn
https://dl.doubtnut.com/l/_J9ygANB7ISRa
https://dl.doubtnut.com/l/_zUvXD4QyVrZ6
https://dl.doubtnut.com/l/_xIJn6P3Jigut


14. If  , find the value of 

Watch Video Solution

a2 − 3a − 1 = 0 a2 +
1

a2

15. If x  find: 


Watch Video Solution

= ,
1

x − 5

x −
1

x

16. If x  find: 


Watch Video Solution

= ,
1

x − 5

x +
1

x

17. If x  find: 
= ,
1

x − 5

x2 −
1

x2

https://dl.doubtnut.com/l/_TTVfYLoBZOyw
https://dl.doubtnut.com/l/_7dsUE7D8Pd5C
https://dl.doubtnut.com/l/_OdVP9CRLhTFE
https://dl.doubtnut.com/l/_w7T5wKwQraqb


Watch Video Solution

18. If x  find: 


Watch Video Solution

= ,
1

x − 5

x2 +
1

x2

19. If x- y = 7 and  find : 


Watch Video Solution

x3 − y3 = 133.

xy

20. If x- y = 7 and  find : 


Watch Video Solution

x3 − y3 = 133.

x2 + y2

https://dl.doubtnut.com/l/_w7T5wKwQraqb
https://dl.doubtnut.com/l/_kmMjtNcg6l9S
https://dl.doubtnut.com/l/_mtItlAKDiOy2
https://dl.doubtnut.com/l/_PKKouZ6ia5Ru


Factorisation

1. Factorise : 

Watch Video Solution

b2 + c2 + 2bc − a2

2. Factorise : 

Watch Video Solution

a2 − b2 − c2 + 2bc

3. Factorise : 

Watch Video Solution

a + 2b + a3 + 8b3

https://dl.doubtnut.com/l/_YwAwNpDr4X3J
https://dl.doubtnut.com/l/_3gyBepVJPqMY
https://dl.doubtnut.com/l/_YqXWMdiIpBWZ


4. Factorise : 

Watch Video Solution

x2 −
8

x

5. Factorise : 

Watch Video Solution

a − 3b + a3 − 27b3

6. Factorise : 

Watch Video Solution

a2 + bc − ac − b2

https://dl.doubtnut.com/l/_FXlqff4McN6X
https://dl.doubtnut.com/l/_P70vLZo3HmX2
https://dl.doubtnut.com/l/_M4xoApMtxGE4


7. Factorise : 

Watch Video Solution

4a2 − 4ab + b2 − 4x2

8. Factorise : 

Watch Video Solution

(2a − 3)2 − 2(2a − 3)(a − 1) + (a − 1)2

9. Factorise : 

Watch Video Solution

(a + b)2 − 5(a2 − b2) − 24(a − b)2

https://dl.doubtnut.com/l/_HqsV2YJr7ass
https://dl.doubtnut.com/l/_eKveYzFkyd1h
https://dl.doubtnut.com/l/_avTT8AYVYVOL


10. Factorise : 

Watch Video Solution

(a2 + 1)b2 − b4 − a2

11. Factorise 

Watch Video Solution

3(2x − y)3 + 9(2x − y)2

12. Factorise 

Watch Video Solution

a2 + b − ab − a

https://dl.doubtnut.com/l/_tKqYUjENpris
https://dl.doubtnut.com/l/_DMjC2GbN85yP
https://dl.doubtnut.com/l/_Oh9AKtQxEzGi


13. Factorise 

Watch Video Solution

x2 + + 2 − 5x −
1

x2

5

x

14. Factorise 

Watch Video Solution

1 − (2x − 3y)2

15. Factorise 

Watch Video Solution

x(x − a) − y(y − a)

https://dl.doubtnut.com/l/_0uBI0i5efamq
https://dl.doubtnut.com/l/_gEDGerpgrp4M
https://dl.doubtnut.com/l/_eXbaOtAtyzmb


16. Factorise 

Watch Video Solution

x2 − 2y + xy − 4

17. Factorise 

Watch Video Solution

32a4 − 8a2

18. Factorise 

Watch Video Solution

2(ab + cd) − a2 − b2 + c2 + d2

https://dl.doubtnut.com/l/_ioBYRSaOOCgX
https://dl.doubtnut.com/l/_mojD9y9HYnXV
https://dl.doubtnut.com/l/_WkGiDfnIH11M


19. Factorise 

Watch Video Solution

(1 − a2)(1 − b2) + 4ab

20. Factorise 

Watch Video Solution

(x2 + y2 − z2)
2

− 4x2y2

21. Factorise 

Watch Video Solution

8(3x − 2y)2 − 6x + 4y − 1

https://dl.doubtnut.com/l/_60QDOYBQ17Ju
https://dl.doubtnut.com/l/_GAvUrmVpY6bq
https://dl.doubtnut.com/l/_YSeLAjS1WjQu


22. Factorise 

Watch Video Solution

27 − x3y3 + 6 − 2xy

23. Factorise 

Watch Video Solution

(2x − y)2 − 14x + 7y − 18

24. Factorise 

Watch Video Solution

98(a + b)2 − 2

https://dl.doubtnut.com/l/_XQNsSBLo0PP2
https://dl.doubtnut.com/l/_oSg75U59ypwT
https://dl.doubtnut.com/l/_ObcqCiEargJ6


Simultaneous Equations

25. Factorise 

Watch Video Solution

81x4 − 16y4

26. Factorise 

Watch Video Solution

(2a + b)3 − (a + 2b)3

1. Solve : 

 


Watch Video Solution

3x − 5y + 1 = 0

2x − y + 3 = 0

https://dl.doubtnut.com/l/_cr1XGQ12tU38
https://dl.doubtnut.com/l/_CZWrGGo43UZF
https://dl.doubtnut.com/l/_SemuMOF3Rktj


2. Solve : 

 


Watch Video Solution

3x + 2y = 14

−x + 4y = 7

3. Solve : 




Watch Video Solution

2x + 7y = 11

5x + y = 25
35

2

4. Solve : 

 


Watch Video Solution

8x + 13y − 29 = 0

12x − 7y − 17 = 0

https://dl.doubtnut.com/l/_SemuMOF3Rktj
https://dl.doubtnut.com/l/_UpqCuS8JGgv2
https://dl.doubtnut.com/l/_t2DeBIFRIQ6Q
https://dl.doubtnut.com/l/_cqYRiIOfi58a


5. Solve : 

 


Watch Video Solution

12x + 15y + 18 = 0

18x − 7y + 86 = 0

6. Solve:  


Watch Video Solution

3(2x + y) = 7xy

3(x + 3y) = 11xy, x ≠ 0, y ≠ 0

7. Solve  


Hence , find 'm' for which y = mx-4 .

Watch Video Solution

: + = and + = 0.
2

x

2

3y

1

6

3

x

2

y

https://dl.doubtnut.com/l/_cqYRiIOfi58a
https://dl.doubtnut.com/l/_7B96fJZ5uw0t
https://dl.doubtnut.com/l/_1yDAJaAFokwQ
https://dl.doubtnut.com/l/_FAxlfZO0SZi7
https://dl.doubtnut.com/l/_ZMhwdWV7FW6Y


8. Solve 


Hence , find the value of ' k ' , if 

Watch Video Solution

: 4x + = 15 and 6x − = 14.
6

y

8

y

y = kx − 2

9. Solve : 

 


Watch Video Solution

3(2u + v) = 7uv

3(u + 3v) = 11uv

10. Solve the following
 system of equations:

Watch Video Solution

+ = 2,      − = 1
3

x + y

2

x − y

9

x + y

4
x − y

11. Solve: 
217x + 131y = 913 131x + 217y = 827

https://dl.doubtnut.com/l/_ZMhwdWV7FW6Y
https://dl.doubtnut.com/l/_nCwImTK2j3sZ
https://dl.doubtnut.com/l/_KuHh45DHWZNf
https://dl.doubtnut.com/l/_y5LCYoe8eUqI


Watch Video Solution

12. Use method of cross-multiplications to solve: 

Watch Video Solution

2x + y = 8 and 3x − 2y = 5

13. Use method of cross-multiplications to solve: 

Watch Video Solution

x + 4y = 3 and 2x + 9y = 5

14. Seven times a two digit number is equal to four times the number

obtained by reversing the order of digits. Find the number, if

thedifference between its digits is 3.

Watch Video Solution

https://dl.doubtnut.com/l/_y5LCYoe8eUqI
https://dl.doubtnut.com/l/_Gdq5rOqZXHLG
https://dl.doubtnut.com/l/_FvXuqIEOGWNq
https://dl.doubtnut.com/l/_H3qjYyRiWKgB


15. A and B each have a certain number of mangoes. A says to B, if you

give 30 of your mangoes, I will have twice as many as left with you. B

replies, if you give me 10, I will have thrice as many as left with you.

How many mangoes does each have?

Watch Video Solution

16. A person can row a boat at the rate of 5 km/hour in still water. He

takes thrice as much time in going 40 km upstream as in going 40 km

downstream. Find the speed of the stream.

Watch Video Solution

17. If I is added to each of the two certain numbers, their ratio is 1 : 2,

and if 5 is subtracted from each of the two numbers, their ratio

becomes 5:11. Find the numbers.

https://dl.doubtnut.com/l/_H3qjYyRiWKgB
https://dl.doubtnut.com/l/_y6ntOf6nyxcb
https://dl.doubtnut.com/l/_yyMmMdP3iuzK
https://dl.doubtnut.com/l/_CbEeTLz1wbRv


Indices

Watch Video Solution

18. The area of a rectangle increases by 200 sq, m, if the length is

increased by 8 m and the breadth by 3 m. The area increases by 255

sq. m, if the length is increased by 3 m and breadth by 8m. Find the

length and the breadth of the rectangle.

Watch Video Solution

1. If  find the value of x.

Watch Video Solution

25x+ 1 = ,
125

5x

2. If , find the value of x and y

W t h Vid S l ti

8x × 4y = 32 and 81x × 27y = 3

https://dl.doubtnut.com/l/_CbEeTLz1wbRv
https://dl.doubtnut.com/l/_yXrgMQ1bzuNk
https://dl.doubtnut.com/l/_1DFTSaqnjR4o
https://dl.doubtnut.com/l/_hgAc6tvEu6zR


Watch Video Solution

3. Given  , find the value of x .

Watch Video Solution

( )
x− 1

= ( )
2x+ 1

8

27

9

4

4. Evaluate: 

Watch Video Solution

√ + (0.01) − × (5) − (27)
1

4

1
2

2
3

5. Evaluate : 

Watch Video Solution

( )
− 2

− 3(32) × (7)
0

+ ( )
−1

4

2
5

9

16

1
2

https://dl.doubtnut.com/l/_hgAc6tvEu6zR
https://dl.doubtnut.com/l/_Avj7W78yIvsd
https://dl.doubtnut.com/l/_y1M2xHsVtS9q
https://dl.doubtnut.com/l/_ZxWC0EhXYHYE


6. If  prove that  


Watch Video Solution

xa = yb = zc and y2 = xz, b =
2ac

a + c

7. Evaluate : 

Watch Video Solution

+
1

(216)
− 2
3

1

(27)
− 4
3

8. Evaluate : 

Watch Video Solution

[5(8 + 27 )
3
]

1
3

1
3

1
4

https://dl.doubtnut.com/l/_dFsAcxpmIB92
https://dl.doubtnut.com/l/_OqqM0Qwp41zC
https://dl.doubtnut.com/l/_6F6Ne8AbapEX


9. If  find a.

Watch Video Solution

= ( )
2

,
(3 )

4
− (4 )

4
1
4

1
3

(3, )
2

− (4, )
2

1
4

1
3

13a

12

10. Solve for x and y , if : 

.

Watch Video Solution

(√27)
x

÷ 3y+ 4 = 1 and 84 − − 16y = 0
x

3

11. If a= -1 and b= 2 find : 

Watch Video Solution

a2 + b2

https://dl.doubtnut.com/l/_IYuI643ulTIU
https://dl.doubtnut.com/l/_C0cjXuLgQBBH
https://dl.doubtnut.com/l/_1AXLvtoSub5a


Logrithms

12. If a= -1 and b= 2 find : 

Watch Video Solution

ab − ba

13. If a= -1 and b= 2 find : 

Watch Video Solution

ab × ba

14. If a= -1 and b= 2 find : 

Watch Video Solution

ab /ba

https://dl.doubtnut.com/l/_IZK6wBqA19NU
https://dl.doubtnut.com/l/_fgd35xYHsM0o
https://dl.doubtnut.com/l/_tAzm3Rz8fz7U
https://dl.doubtnut.com/l/_QhGnOK93g1Tb


1. Find the value of : 

Watch Video Solution

log3 27

2. Find the value of : 

Watch Video Solution

log5, 625

3. Find the value of : 

Watch Video Solution

log2, 0.125

4. Find the value of : 

log5 0.2

https://dl.doubtnut.com/l/_QhGnOK93g1Tb
https://dl.doubtnut.com/l/_cWXPlHLtqZBZ
https://dl.doubtnut.com/l/_sVeo73vE6Z4a
https://dl.doubtnut.com/l/_LB7JXrWqC7mu


Watch Video Solution

5. Find the value of : 

Watch Video Solution

log0.2 5

6. Find the value of : 

Watch Video Solution

log10 0.001

7. If log 4= 0.602 and log 27 = 1.431 , find : 

Watch Video Solution

log 8

https://dl.doubtnut.com/l/_LB7JXrWqC7mu
https://dl.doubtnut.com/l/_c5cB61jxvLWh
https://dl.doubtnut.com/l/_QXCIi4aBJ52v
https://dl.doubtnut.com/l/_OJb5i5yvJbBV
https://dl.doubtnut.com/l/_mP7IZOhkap6G


8. If log 4= 0.602 and log 27 = 1.431 , find : 

Watch Video Solution

log 12

9. Express in terms of log 2 and log 3 : 

Watch Video Solution

log
√8

27

10. Express in terms of log 2 and log 3 : 

Watch Video Solution

log (√54 × 3√243)

11. Simplify : 

log − 2 log + log
75
16

5

9

32

243

https://dl.doubtnut.com/l/_mP7IZOhkap6G
https://dl.doubtnut.com/l/_p09uQKsrM5IW
https://dl.doubtnut.com/l/_gSsMsihwZoM7
https://dl.doubtnut.com/l/_cHqZKNwmhnEj


Watch Video Solution

12. Simplify : 

Watch Video Solution

2 log − log + 3 log
15

8

25

162
4
9

13. Let  Find the value of log 

 in terms of m and n.

Watch Video Solution

logx = 2m − 3n and logy = 3n − 2m

( )
x3

y2

14. Find x, if : 

Watch Video Solution

2 + logx = log 45 − log 2 + log 16 − 2 log 3.

https://dl.doubtnut.com/l/_cHqZKNwmhnEj
https://dl.doubtnut.com/l/_dKJqCxqdn0Yq
https://dl.doubtnut.com/l/_2BIT1fzPEFh2
https://dl.doubtnut.com/l/_Q7LME9aIP0wT
https://dl.doubtnut.com/l/_rQgPJviEHv3w


15. If l=  , find the value

of 

Watch Video Solution

log , m = log and n = 2(log 3 − log √5)
5

7
7
9

l + m + n

16. If =  , find the value

of 

Watch Video Solution

log , m = log and n = 2(log 3 − log √5)
5

7

7
9

7l+m+n

17. Given . 


Write  in terms of x.

Watch Video Solution

log10 x = 2a and log10 y =
b

2

10a

https://dl.doubtnut.com/l/_rQgPJviEHv3w
https://dl.doubtnut.com/l/_KTJGqmMS3hfo
https://dl.doubtnut.com/l/_XATYrGIQA6KC


Triangles

18. Given . 


Write  in terms of y .

Watch Video Solution

log10 x = 2a and log10 y =
b

2

102b+ 1

19. Given . 


If  express P in terms of x and y.

Watch Video Solution

log10 x = 2a and log10 y =
b

2

log10 P = 3a − 2b

20. If , find

the value of a, if x + y = 2z.

Watch Video Solution

x = 1 + log 2 − log 5, y = 2 log 3 and z = loga − log 5

https://dl.doubtnut.com/l/_uOH2DFMHxlB1
https://dl.doubtnut.com/l/_mIYl9t9KAwfP
https://dl.doubtnut.com/l/_fcWwixr3vRCO
https://dl.doubtnut.com/l/_KK8zeTX2HzAZ


1. Find the numerical vlaue of x from the diagram given below. 

Watch Video Solution

2. In  is a point in PQ and B is a point in PR , so

that 

QR = RA = AB = BP 

show that 

Watch Video Solution

ΔPQR, PQ = PR. A

: ∠P : ∠R = 1: 3

https://dl.doubtnut.com/l/_KK8zeTX2HzAZ
https://dl.doubtnut.com/l/_UXWIhH9E4UDe


3. In  is a point in PQ and B is a point in PR , so

that 

QR = RA = AB = BP 

Find the vlaue of 

Watch Video Solution

ΔPQR, PQ = PR. A

∠Q.

4. The given figure shows a right triangle right angled at B . 

If  show that  
∠BCA = 2∠BAC, AC = 2BC

https://dl.doubtnut.com/l/_xRabZVf2eK6K
https://dl.doubtnut.com/l/_XBv96M2Fhb2T


Watch Video Solution

5. In  is a piont in side BC such that AD

bisect angle BAC. 

Show that AD is perpendicular bisector of side BC.

Watch Video Solution

ΔABC, AB = AC and D

6. In the given figure , BC = CE and  


Prove that : 

∠1 = ∠2.

https://dl.doubtnut.com/l/_XBv96M2Fhb2T
https://dl.doubtnut.com/l/_xwmPDiWhNcJy
https://dl.doubtnut.com/l/_6KMQrdeazlVw


 . 


Watch Video Solution

ΔGCB = ΔDCB

7. The given figure shows two isosceles triangles ABC and DBC with

common base BC. AD is extended to intersect BC at point P. Show

that: 

 

(ii)  


(iii) AP bisects 


ΔABD = ΔACD

ΔABP = ΔACP

∠BDC

https://dl.doubtnut.com/l/_6KMQrdeazlVw
https://dl.doubtnut.com/l/_O3mvKpLETvxr


(iv) AP is perpendicular bisector of BC. 

Watch Video Solution

8. Two sides AB and BC and median AD of triangle ABC are

respectively equal to sides PQ and QR and median PN of PQR. ShowΔ

https://dl.doubtnut.com/l/_O3mvKpLETvxr
https://dl.doubtnut.com/l/_UlTqgx7M00mN


that: 

Watch Video Solution

ΔABD = ΔPQN

9. Sides
AB and BC and median AD of a triangle ABC are respectively

proportional to
 sides PQ and QR and median PM of 
 . Show

that 
.

Watch Video Solution

ΔPQR

ΔABCΔPQR

10. The given figure shows 


Prove that  


PQ = PR and ∠Q = ∠R.

ΔPQS = ΔPRT

https://dl.doubtnut.com/l/_UlTqgx7M00mN
https://dl.doubtnut.com/l/_6ckNBoztNLlT
https://dl.doubtnut.com/l/_vfLxzGzopQ5B


Watch Video Solution

11. In the following figure , AB = BC and AD = DE. 

if  find the measure of∠B = 50∘ , ∠D = 66∘ and ∠GAC = 18∘

https://dl.doubtnut.com/l/_vfLxzGzopQ5B
https://dl.doubtnut.com/l/_QdwNe1NImhlF


angles DAE, BAF and AGF. 

Watch Video Solution

12. In  prove that

AD = CE.

Watch Video Solution

ΔABC, AB = BC, AD ⊥ BC and CE ⊥ AB,

https://dl.doubtnut.com/l/_QdwNe1NImhlF
https://dl.doubtnut.com/l/_26YGuIsG15dC


13. Use the informations given in the following figure to find the

values of x and y . 

Watch Video Solution

14. If the
bisector of an angle of a triangle bisects the opposite side,

prove that the
triangle is isosceles.

Watch Video Solution

https://dl.doubtnut.com/l/_PoNd9ydEOsYM
https://dl.doubtnut.com/l/_2JFrenbO8sp3


15. The given figure shows a  in which AB =AC and BP =CQ . 


Prove that : 

(i)  


(ii)  is isosceles. 

Watch Video Solution

ΔABC

ΔABQ ≅ΔACP .

ΔAPQ

https://dl.doubtnut.com/l/_86n1MQkNzK9u


16. Use the given figure to find the angle x. 

Watch Video Solution

17. In a triangle ABC , AB = AC and  If the internal bisector

of angle C meets AB at D . Prove that AD = BC.

Watch Video Solution

∠A = 36∘

https://dl.doubtnut.com/l/_atbYZuqQ2r8j
https://dl.doubtnut.com/l/_CFxC6B9XcCce


Inequalities

18. In a triangles ABC

Find all the three angles of the .

Watch Video Solution

, ∠A = x ∘ , ∠B = (3x − 2) ∘ and ∠C = y ∘ ,  Also , ∠C − ∠B = 9∘

ΔABC

1. In the given figure ,  


Prove that :  


PR > PQ

AR > AQ

https://dl.doubtnut.com/l/_24eSEaPSwuia
https://dl.doubtnut.com/l/_1hZUuErAze29


Watch Video Solution

2. Using the informations given in the adjoining figure , write the

sides of  in ascending order of length. 


` (##SEL_RKB_ICSE_MAT_IX_CR_01_E01_171_Q01.png" width="80%">

View Text Solution

ΔBOC

https://dl.doubtnut.com/l/_1hZUuErAze29
https://dl.doubtnut.com/l/_M5zmD19bTwhp


3. Two sides of a triangles are 12 cm and 7 cm , find the range for the

length of its third side.

Watch Video Solution

4. In the given figures, AB > AC and D is any point on BC. 

Prove that : AB >AD. 

Watch Video Solution

https://dl.doubtnut.com/l/_1IpQic6cxKDI
https://dl.doubtnut.com/l/_xtnTsxhJKX12


Mid Point And Intercept Theorem

5. In quadrilateral ABCD ,side DC is largest show that AB + AD > DC -

BC

Watch Video Solution

1. If 
 is the mid-point of the
 hypotenuse 
 of a right triangle 


prove that 

Watch Video Solution

D AC

ABC, BD = AC
1

2

https://dl.doubtnut.com/l/_iBPZNXMXKyYI
https://dl.doubtnut.com/l/_cCt1TTCqHK9A


2. In the figure given below, AF = DF and AB //FE // DC. 

 

Prove that 

 


Watch Video Solution

FP = AB
1

2

3. In  F are mid-points of the sides BC,

CA and AB respectively . Show that : 

AD is perpendicular to EF.

Watch Video Solution

ΔABC, AB = AC. D, E and

https://dl.doubtnut.com/l/_bZNo6eIaUorh
https://dl.doubtnut.com/l/_D9pHcZaBKudi


4. In  F are mid-points of the sides

BC, CA and AB respectively . Show that : 

AD and FE bisect each other.

Watch Video Solution

ΔABC, AB = AC. D, E and

5. ABC is a triangle right angled at C and M is mid-point of

hypotenuse AB. Line drawn through M and parallel to BC intersects

AC at D. Show that: 

MD is mid-point of AC.

Watch Video Solution

6. ABC is a triangle right angled at C and M is mid-point of

hypotenuse AB. Line drawn through M and parallel to BC intersects

AC at D. Show that: 

MD is mid-point of AC.

https://dl.doubtnut.com/l/_lwia1HJKvDUd
https://dl.doubtnut.com/l/_gXKMuJrN7ZTQ
https://dl.doubtnut.com/l/_3BrvFpGOxWCQ


Watch Video Solution

7. ABC is a
triangle right angled at C. A line through the mid-point M

of hypotenuse AB
and parallel
to BC intersects AC at D. Show that
(i)

D
is the mid-point of AC (ii) 
(iii) 

Watch Video Solution

MD ⊥ AC CM = MA = AB
1

2

8. In the following figure ,l // m//n. If OC = OD = 5 cm 

OA = 8 cm and OE 10 cm find OB and OF 

https://dl.doubtnut.com/l/_3BrvFpGOxWCQ
https://dl.doubtnut.com/l/_yNuonfH93pCc
https://dl.doubtnut.com/l/_FkryQaLumXUf


Watch Video Solution

9. In trapezium ABCD, AB//DC. M is mid point of AD and N is mid-point

of BC. 

If AB = 8 cm and DC = 11 cm , find MN.

Watch Video Solution

https://dl.doubtnut.com/l/_FkryQaLumXUf
https://dl.doubtnut.com/l/_WdVvwAZg9CGC


10. In trapezium ABCD, AB//DC. M is mid point of AD and N is mid-

point of BC. 

If AB = 5.7 cm and MN = 6.2 cm , find DC.

Watch Video Solution

11. In the following figure, straight lines . m and n are parallel to each

other and is the mid-point of CD. Find 

(1) BG, if AD = 12 cm 

(ii) CF, if GE = 4.6 cm 

(iii) AB, if BC = 4.8 cm 

https://dl.doubtnut.com/l/_fwox7hivFCgy
https://dl.doubtnut.com/l/_LsD4pa3jfXZh


Pythagoras Therorem

(iv) ED, if FD = 8.8 cm 

Watch Video Solution

1. A right
 triangle has hypotenuse of length 
 and one
 side of

length 
 . If 
 , find the
 length of the third side of the

triangle.

Watch Video Solution

p cm

q cm p − q = 1

https://dl.doubtnut.com/l/_LsD4pa3jfXZh
https://dl.doubtnut.com/l/_ePdPOX4uLglI


2. In a quadrilateral ABCD  Prove that : 

Watch Video Solution

∠B = ∠D = 90∘

2AC 2 − BC 2 = AB2 + AD2 + DC 2

3. In an equilateral triangle ABC, D is a point on side BC such that

. Prove that .

Watch Video Solution

BD = BC
1

3
9AD2 = 7AB2

4. In the following figure,  AB = (x+8) cm , BC = (x+ 1) cm

and AC = (x+15) cm. 

∠ABC = 90∘

https://dl.doubtnut.com/l/_84vIAHwwhkSf
https://dl.doubtnut.com/l/_X0QL3j42QG2D
https://dl.doubtnut.com/l/_QLf8uCDmphVE


Find the lengths of the sides of the triangles. 

Watch Video Solution

5. In the given figure, triangle ABC is a right triangle with

 is mid-point of side BC. Prove that : 
∠B = 90∘ and D

https://dl.doubtnut.com/l/_QLf8uCDmphVE
https://dl.doubtnut.com/l/_nzM3vzQzLwvu


 


Watch Video Solution

AC 2 = AD2 + 3CD2

6. In triangle ABC,

 Find AC in

terms of 'a' if a= 8 , find the lengths of the sides of the triangles.

Watch Video Solution

∠ABC − 90∘ , AB = 2a + 1 and BC = 2a2 + 2a.

https://dl.doubtnut.com/l/_nzM3vzQzLwvu
https://dl.doubtnut.com/l/_b9k8zHymNKEd


7. In a right angled triangle, five times the square on the hypotenuse

is equal to four times the sum of the squares on the medians drawn

from the acute angles. Prove it.

Watch Video Solution

8. In an equilateral triangle ABC, BE is perpendicular to side CA. Prove

that: 

Watch Video Solution

AB2 + BC 2 + CA2 = 4BE2

9. In a quadrilateral ABCD, . Prove that : 

Watch Video Solution

∠B = 90∘ and ∠D = 90∘

     2AC 2 − AB2 = BC 2 + CD2 + DA2

https://dl.doubtnut.com/l/_YTtvC7mR9doR
https://dl.doubtnut.com/l/_0qulHs0jaEtP
https://dl.doubtnut.com/l/_3c3tkKINHUlN


Rectillinear Figures

1. The ratio between the number of sides of two regular polygons is 3

: 4 and the ratio between the sum of their interior angles is 2:3. Find

the number of sides in each polygon.

Watch Video Solution

2. If the difference between an interior angle of a regular polygon of

(n + 1) sides and an interior angle of a regular polygon of n sides is

, find the value of n. Also, state the difference between their exterior

angles.

Watch Video Solution

4∘

3. In a quadrilateral ABCD, angles A, B, C and D are in the ratio 3:2:1:4

Prove that AD is parallel to BC.

https://dl.doubtnut.com/l/_ajnzWAt58coo
https://dl.doubtnut.com/l/_HG3wUCDbXLkx
https://dl.doubtnut.com/l/_X16bOOuzPufK


Watch Video Solution

4. In a quadrilateral ABCD, AB = CD and  Prove that 


Watch Video Solution

∠B = ∠C.

AC = AB

5. In a quadrilateral ABCD, AB = CD and  Prove that 


AD is parallel to BC.

Watch Video Solution

∠B = ∠C.

6. In the diagram below, P and Q are midpoints of sides BC and AD

respectively of the parallelogram ABCD. If side AB = diagonal BD:

https://dl.doubtnut.com/l/_X16bOOuzPufK
https://dl.doubtnut.com/l/_u1fQFtc9ZY8A
https://dl.doubtnut.com/l/_iShNnCFje646
https://dl.doubtnut.com/l/_RXrrAswYVdAM


prove that the quadrilateral BPDQ is a rectangle. 

Watch Video Solution

7. ABCD is a parallelogram. If AB = 2AD and P is the mid-point of CD,

prove that 

Watch Video Solution

∠APB = 90∘

8. Construct a parallelogram ABCD in which diagonal AC = 6-3 cm,

diagonal BD = 7cm and the acute angles between the diagonals is 45°

Watch Video Solution

https://dl.doubtnut.com/l/_RXrrAswYVdAM
https://dl.doubtnut.com/l/_cN1FVdAkTFML
https://dl.doubtnut.com/l/_Moib19dsuo0f


Watch Video Solution

9. Construct a rhombus whose diagonals are 4.7 cm and 5-4 cm.

Watch Video Solution

10. In a parallelogram ABCD, P is a point on side AD such that 3AP = AD

and Q is a point on BC such that 3CQ = BC. Prove that : AQCP is a

parallelogram.

Watch Video Solution

11. The following figure shows a parallelogram ABCD. Use the given

informations to find the values of x, y and z. 

https://dl.doubtnut.com/l/_Moib19dsuo0f
https://dl.doubtnut.com/l/_7MKsSVnWgfIc
https://dl.doubtnut.com/l/_0yaXjdPxgb3p
https://dl.doubtnut.com/l/_XLmtP1e7o50k


Watch Video Solution

12. The angles of a quadrilateral are equal. Prove that the

quadrialteral is rectangle.

Watch Video Solution

13. The given figures shows a kite- shaped figure whose diagonals

intersect each other at point O. if 

https://dl.doubtnut.com/l/_XLmtP1e7o50k
https://dl.doubtnut.com/l/_uuraNGkUtWMu
https://dl.doubtnut.com/l/_0hnMi5zzO0H6


 Find 


(i)  


(ii)  


(iii)  

Watch Video Solution

∠ABO = 25∘ and ∠OCD = 40∘ ,

∠ABC

∠ADC

∠BAD

https://dl.doubtnut.com/l/_0hnMi5zzO0H6


14. In a parallelogram, prove that the bisectors of any two

consecutive angles
intersect at right angle.

Watch Video Solution

15. Two opposite angles of a parallelogram are

 . Find each angle of the parallelogram.

Watch Video Solution

(6x − 17∘ ) and (x + 63)
∘

16. The diagonals of a rectangle intersect each other at right angles.

Prove that the rectangle is a square.

Watch Video Solution

https://dl.doubtnut.com/l/_0hnMi5zzO0H6
https://dl.doubtnut.com/l/_YkKKeed8A4rS
https://dl.doubtnut.com/l/_oH6evO3lPTIe
https://dl.doubtnut.com/l/_HmRgs4UCb1Ne


17. M and N are the points of trisection of the diagonal BD of a

parallelogram ABCD. Prove that CN is parallel to AM.

Watch Video Solution

18. Find the angles of the parallelogram ABCD, If 

Watch Video Solution

∠A, ∠B = 2: 7

19. Find the angles of the parallelogram ABCD, if 

Watch Video Solution

∠C = ∠D
2

3

https://dl.doubtnut.com/l/_lRrxkAnWgIHA
https://dl.doubtnut.com/l/_BrwpieP6kbYn
https://dl.doubtnut.com/l/_vgkHwKpi8LZQ


20. Construct a quadrilateral ABCD with

.

Watch Video Solution

∠B = ∠C = 75∘ , BC = 6m, AB = 4.8cm and CD = 5cm

21. Construct a parallelogram ABCD with diagonals 6.3 cm and 5.6 cm .

And, acute angle between the diagonals is 

Watch Video Solution

45∘

22. Construct a squre ABCD with AC = 6.2 cm.

Watch Video Solution

23. Construct a rhombus ABCD such that each of its side is 4.8 cm and

∠A = 120∘

https://dl.doubtnut.com/l/_hqInVHFShLoE
https://dl.doubtnut.com/l/_JMVBPc0YY2B9
https://dl.doubtnut.com/l/_bycPXxdmRs4r
https://dl.doubtnut.com/l/_ejzpR8QnLyeS


Area Theorems

Watch Video Solution

24. Construct a trapezium ABCD in which AB is parallel to DC, AB = 6.4

cm ,AD=3.5cm, 

Watch Video Solution

∠A = 60∘ and ∠B = 75∘

1. D, E and F are the mid-points of the sides BC, CA and AB respectively

of triangle ABC. Prove that: 

BDEF is a parallelogram.

Watch Video Solution

2. D, E and F are the mid-points of the sides BC, CA and AB respectively

of triangle ABC. Prove that: 

https://dl.doubtnut.com/l/_ejzpR8QnLyeS
https://dl.doubtnut.com/l/_gk4ZI59aERfn
https://dl.doubtnut.com/l/_HrFsKAuJoLOd
https://dl.doubtnut.com/l/_m8FDBWymVYKP


area of BDEF is half the area of 

Watch Video Solution

ΔABC.

3. Given a parallelogram ABCD where X and Y are the mid-points of

the sides BC and CD respectively . Prove that: 

ar 

Watch Video Solution

(ΔAXY ) = × ar( /gm)ABCD
3

8

4. ABCD is a parallelogram of area 162 sq. Cm P is a point on AB such

that AP : PB = 1 :2 

Calculate 

The area of 

Watch Video Solution

ΔAPD

https://dl.doubtnut.com/l/_m8FDBWymVYKP
https://dl.doubtnut.com/l/_uCOjUazOrDq6
https://dl.doubtnut.com/l/_hGwB0ZFBO1E9


5. ABCD is a parallelogram of area 162 sq. Cm P is a point on AB such

that AP : PB = 1 :2 

Calculate 

The ratio of PA : DC.

Watch Video Solution

6. The area of
 the figure formed by joining the mid-points of the

adjacent sides of a
 rhombus with diagonals 
 is



(b)
 
(c)
 
(d)


Watch Video Solution

16cm and 12cm

28 cm2 48 cm2 96 cm2 24 cm2

7. In trapezium ABCD, side AB is parallel to side DC. Diagonals AC and

BD intersect at point P. Prove that triangles APD and BPC are equal in

area.

Watch Video Solution

https://dl.doubtnut.com/l/_r7Q7KfkOYuo4
https://dl.doubtnut.com/l/_vUKFZKZqw1Ej
https://dl.doubtnut.com/l/_E3HtrZ6GXMa0


Watch Video Solution

8. P is the mid-point of diagonal AC of quadrilateral ABCD. Prove that

the quadrilaterals ABPD and CBPD are equal in area.

Watch Video Solution

9. In triangle ABC, D is mid-point of AB and P is any point on BC. If CQ

parallel to PD meets AB at Q, prove that:

Watch Video Solution

2 ×  area (ΔBPQ) =  area (ΔABC)

10. In  ,D is a point in side AB and E is a point in AC. If DE is

parallel to BC, and BE and CD intersect each other at point 0, prove

that: 

ΔABC

 area (ΔACD) =  area (ΔABE)

https://dl.doubtnut.com/l/_E3HtrZ6GXMa0
https://dl.doubtnut.com/l/_c1lHr8y5SSCa
https://dl.doubtnut.com/l/_gY8qtS7MnWAw
https://dl.doubtnut.com/l/_r4IpPAjfLIrf


Circle

Watch Video Solution

11. In  ,D is a point in side AB and E is a point in AC. If DE is

parallel to BC, and BE and CD intersect each other at point 0, prove

that: 

Watch Video Solution

ΔABC

 area (ΔOBD) =  area (ΔOCE)

1. A chord of length 16 cm is drawn in a circle of diameter 20 cm.

Calculate its distance from the centre of the circle.

Watch Video Solution

https://dl.doubtnut.com/l/_r4IpPAjfLIrf
https://dl.doubtnut.com/l/_5oXWp2kGLMhw
https://dl.doubtnut.com/l/_uWYqwXRzRWYP


2. In the given figure, the diameter CD of a circle with centre 0 is

perpendicular to the chord AB. 

If AB = 8 cm and CM = 2 cm, find the radius of the circle. 

Watch Video Solution

https://dl.doubtnut.com/l/_IcR3z8rIrvMh


3. Two chords AB and CD of lengths 24 cm and 10 cm respectively of a

circle are parallel. If the chords lie on the same side of the centre and

distance between them is 7 cm, find the length of a diameter of the

circle.

Watch Video Solution

4. Two chords 
and 
of a circle are equal. Prove that the centre

of the circle lies on the
angle bisector of 

Watch Video Solution

AB AC

∠BAC.

5. In the given figure , arc APB : arc BQC = 2: 3 and 

Find : 

(i)  

(ii)  


(iii)  

∠AOC = 150∘ ,

∠AOB

∠BOC

∠OBA

https://dl.doubtnut.com/l/_QD6bQgiaEHY3
https://dl.doubtnut.com/l/_iLPamZZjF0SP
https://dl.doubtnut.com/l/_Tj03MU7rQCOR


(iv)  


(v)  

Watch Video Solution

∠OCB

∠ABC

6. In the given figure, AB is a side of a regular pentagon and BC is the

side of a regular hexagon. Find 

(i)  ∠AOB

https://dl.doubtnut.com/l/_Tj03MU7rQCOR
https://dl.doubtnut.com/l/_UZpPXc7NiDHn


Statistics

(ii)  


Watch Video Solution

∠OBC

https://dl.doubtnut.com/l/_UZpPXc7NiDHn


1. The cost of 250 articles is given below : 

 

Construct a frquency distribution table for the data given above. Also

, answer the following: 

(i) how many articles cost from rupes 30 to less than rupes 50? 

how many articles have cost at most rupes 40 ? 

(iii) how many articles have cost at least rupes 50?

Watch Video Solution

2. The class marks of a distribution are 62, 67, 72, 77, 82 and 87. Find

the class-size and class-limits

Watch Video Solution

https://dl.doubtnut.com/l/_S2jyPhTtVJNY
https://dl.doubtnut.com/l/_VD05nI7OcPzT


Watch Video Solution

3. By taking classes 30 - 40, 40 - 50, 50 - 60,.. ., construct a frequency

table for the following data: 

 


 


 


 


 


 


 


 


 

Watch Video Solution

 65 34 74 49 52 35

  71 55 61 40 56 38 

 52 56 52 33 60 35 

 49 37 53 50 44 30

  62 50 47 45 47 50 

   63 61 54 58 47 64 

 37 38 44 42 47 55 

 70 33 75 49 47 30

   60 69

4. State, which of the following variable are continuous and which are

discrete: 

https://dl.doubtnut.com/l/_VD05nI7OcPzT
https://dl.doubtnut.com/l/_MnRC3pgTQ4Ve
https://dl.doubtnut.com/l/_PA9ZYglFqm8c


marks scored in a test.

Watch Video Solution

5. State, which of the following variable are continuous and which are

discrete: 

daily temperatue of a city

Watch Video Solution

6. State, which of the following variables are continuous and which

are discrete : 

sizes of shoes.

Watch Video Solution

https://dl.doubtnut.com/l/_PA9ZYglFqm8c
https://dl.doubtnut.com/l/_jXCyZ9YcT2s2
https://dl.doubtnut.com/l/_DFAcPFAlSJfa


7. State, which of the following variable are continuous and which are

discrete: 

distances covered by a train.

Watch Video Solution

8. State, which of the following variables are continuous and which

are discrete : 

time.

Watch Video Solution

9. The table , given below , shows the frequency distributions of the

weekly wages of the employee of a company: 

https://dl.doubtnut.com/l/_WKwmukCj85cK
https://dl.doubtnut.com/l/_v0zziquFvFzI
https://dl.doubtnut.com/l/_xROg50Yxf5Rt


Mean And Median

 

Find : 

(i) the lower limit of the fourth class. 

(ii) the upper limit of the fifth class. 

(iii) the class boundaries of the second class. 

(iv) the class mark of the first class. 

(v) the class size of the third class. 

(vi) cumulative frequency of the fourth class.

View Text Solution

https://dl.doubtnut.com/l/_xROg50Yxf5Rt


1. Find the mean of 

5,15,20 , 8 and 12

Watch Video Solution

2. Find the mean of 

28,24, 37,42,56,59,67,28,15 and 32.

Watch Video Solution

3. Find the mean of the following data: 18, 33, 30, 21 and 13. 

Also, find the sum of deviations of this data from the mean.

Watch Video Solution

https://dl.doubtnut.com/l/_NNdf7rlp26kT
https://dl.doubtnut.com/l/_Z8zQv0zDOHfR
https://dl.doubtnut.com/l/_oV3TOhi9ftla


4. If 150 is the mean of 200 observations and 100 is the mean of some

300 other observations, find the mean of the combination.

Watch Video Solution

5. The mean of a certain number of observations is 35. What is the

new value of the mean if each observation is : 

increased by 7.

Watch Video Solution

6. The mean of a certain number of observations is 35. What is the

new value of the mean if each observation is : 

decreased by 5.

Watch Video Solution

https://dl.doubtnut.com/l/_55WXzFIzjqFO
https://dl.doubtnut.com/l/_mvvnQxQe8NO2
https://dl.doubtnut.com/l/_dNwSYrGWeDy7
https://dl.doubtnut.com/l/_WSUq9C3CAsDD


7. The mean of a certain number of observations is 35. What is the

new value of the mean if each observation is : 

Multiplied by 2.

Watch Video Solution

8. The mean of a certain number of observations is 35. What is the

new value of the mean if each observation is : 

divided by 5.

Watch Video Solution

9. The mean of a certain number of observations is 35. What is the

new value of the mean if each observation is : 

increased by 20%

Watch Video Solution

https://dl.doubtnut.com/l/_WSUq9C3CAsDD
https://dl.doubtnut.com/l/_brx6rofIl1L9
https://dl.doubtnut.com/l/_Hl3mSJejzTcx
https://dl.doubtnut.com/l/_xcnDzIE15DjK


10. The mean of a certain number of observations is 35. What is the

new value of the mean if each observation is : 

decreased by 20%

Watch Video Solution

11. Find the median of 17, 26, 60, 45, 33, 32, 29, 34 and 56. If 26 is

replaced by 62, what will be the new median?

Watch Video Solution

12. The following data have been arranged in ascending order of

magnitude. 

63, 66, 69, x, x + 2, 76, 89 and 103. 

If the median of the given data is 71, find the value of x.

Watch Video Solution

https://dl.doubtnut.com/l/_xcnDzIE15DjK
https://dl.doubtnut.com/l/_Kae4s3gae7bT
https://dl.doubtnut.com/l/_TLp89C6ayFAs


Area And Perimeter Of Plane Figures

1. An isosceles right-angled triangle has area 200 cmWhat is the

length of its hypotenuse?

Watch Video Solution

2. The perimeter of a triangle is 540 m and its sides are in the ratio 12

: 25 : 17. Find the area of the triangle.

Watch Video Solution

3. Find the area of triangle whose sides are 5 cm, 12 cm and 13 cm.

Also, find the length of its altitude corresponding to the longest side.

Watch Video Solution

https://dl.doubtnut.com/l/_K1mC3uqw7C1q
https://dl.doubtnut.com/l/_ZCmRpEXbgI1M
https://dl.doubtnut.com/l/_heAGnwykeOWk


4. The diagonals of a rhombus are 24 cm and 10 cm. Calculate its area

and perimeter.

Watch Video Solution

5. The diagonals of a field in the form of a quadrilateral are 106 m and

80 m and intersect each other at right angles. Find the cost of

cultivating the field at the rate of 25.50 per 100 

Watch Video Solution

m2

6. If the difference between the two sides of a right-angled triangle is

2 cm and the area of the triangle is  , find the perimeter of the

triangle.

Watch Video Solution

24cm2

https://dl.doubtnut.com/l/_6InIpZesxJsw
https://dl.doubtnut.com/l/_VTecEp52knu1
https://dl.doubtnut.com/l/_ZorX0SMmEhAY
https://dl.doubtnut.com/l/_DMvORhh6s7eM


7. Calculate the area of quadrilateral ABCD In which

Watch Video Solution

∠A = 90∘ , AB = 16cm. AD = 12cm and BC = CD = 12.5cm

8. In the given figures,

 If the area

of the quadrilateral ABCD is : find the length of DE. 


Watch Video Solution

∠ABC = 90∘ = ∠DECAC = 15cm and AB = 9cm.

72cm2

https://dl.doubtnut.com/l/_DMvORhh6s7eM
https://dl.doubtnut.com/l/_KJAmmC2XLNHk
https://dl.doubtnut.com/l/_PM2defYWKfmD


9. How many square tiles of side 40 cm will be required to pave a

footpath which is 2 m wide and surrounds a rectangular plot 80 m by

44 m ?

Watch Video Solution

10. The cost of papering four walls of a room at 14 per square metre

is 3,150. The height of the room is 5 metres. Find the length and the

breadth of the room, if they are in the ration 4 : 1.

Watch Video Solution

11. A circle is inscribed in a square of side 14 cm. Find the area

enclosed between the square and the circle.

Watch Video Solution

https://dl.doubtnut.com/l/_PM2defYWKfmD
https://dl.doubtnut.com/l/_58RMcKjhSDWt
https://dl.doubtnut.com/l/_8Y4QEH1gH8MB


12. The ratio between the diameters of two cirlces is 3:5. Find the

ratio between their : (i) radii (ii) circumferences (iii) areas.

Watch Video Solution

13. Find the ratio between the area of the shaded and the unshaded

portions of the following figure 

Watch Video Solution

https://dl.doubtnut.com/l/_orEtHJeT6D7w
https://dl.doubtnut.com/l/_K4iaeRiODhUL


14. Calculate the area of triangle whose side are 13 cm, 5 cm and 12

cm. Hence, calculate the altitude corresponding to the longest side of

this trianlge. Leave your answer as a fraction.

Watch Video Solution

15. Find the area of a triangle whose perimeter is 22 cm, one side is 9

cm and the difference of other two sides is 3 cm.

Watch Video Solution

16. The base of an isosceles triangle is 24 cm and its area is 

Find its perimeter.

Watch Video Solution

60cm2

https://dl.doubtnut.com/l/_tiqdeD822W6P
https://dl.doubtnut.com/l/_Gp5ikpP0A6B3
https://dl.doubtnut.com/l/_MTIN8ondZAsM


Solids

17. The area of a circular ring enclosed between two concentric circles

is 286 cm? Find the radii of the two circles, given that their difference

is 7 cm.

Watch Video Solution

1. Six cubes, each with 12 cm edge, are joined end to end. Find the

surface area of the resulting cuboid.

Watch Video Solution

2. The diagonal of a cube is  cm. Find its surface area and

volume.

Watch Video Solution

16√3

https://dl.doubtnut.com/l/_JtmABsadcxS1
https://dl.doubtnut.com/l/_MGcietRsiTkR
https://dl.doubtnut.com/l/_GIeI3CPryM3d


3. The areas
of three adjacent faces of a cuboid are 
 If the

volume is 
prove that 

Watch Video Solution

x,  y and z.

V , V 2 = xyz.

4. Water flows in a tank 
 at the base, through a pipe

whose cross-section is
 
by 
at the speed of 15 km per hour.

In what time, will the water be 
deep?

Watch Video Solution

150m ⋅ 100m

2dm 1.5dm

3metres

5. A cylindrical bucket holds 44.372 litre of water. The water is

emptied into a rectangular tank 66 cm long and 28 cm wide. Find the

height of the water level in the tank.

Watch Video Solution

https://dl.doubtnut.com/l/_GIeI3CPryM3d
https://dl.doubtnut.com/l/_aYiwOKnMuF0U
https://dl.doubtnut.com/l/_tGdJgSd1y1LZ
https://dl.doubtnut.com/l/_f1p6lIQssf6C
https://dl.doubtnut.com/l/_WDHm40TjpKPO


6. The area of cross-section of a pipe is 10.4 cm2 and water is running

through it at the rate of 54 km/h. If the pipe is always 60% full, find

the volume of water, in litres, that flows through the pipe in 5

minutes.

Watch Video Solution

7. Length of a room is twice its height and its breadth is  times its

height. The cost of white washing the walls at the rate of 32 per sq. m

is * 3,584. Find the cost of tiling the floor of the room at 135 per sq. m.

Watch Video Solution

1
1

2

8. The square on the diagonal of a cube has an area of 

Calculate : 

the side of the cube.

Watch Video Solution

192cm2

https://dl.doubtnut.com/l/_WDHm40TjpKPO
https://dl.doubtnut.com/l/_cSptqwevwGyt
https://dl.doubtnut.com/l/_oRHq3kXNrx7A


Watch Video Solution

9. The square on the diagonal of a cube has an area of 

Calculate : 

the total surface area of the cube.

Watch Video Solution

192cm2

10. The volume of a cubical solid is  If its diamensions are in

the ratio 3 : 2: 1 , find the cost of polishing its total surface at the rate

of 

Watch Video Solution

10368cm3

2.50  per m2

11. Squares, each of side 6 cm are cut off from the four corners of a

sheet of tin measuring 42 cm by 30 cm. The remaining portion of the

https://dl.doubtnut.com/l/_oRHq3kXNrx7A
https://dl.doubtnut.com/l/_DH7FZe6jHU44
https://dl.doubtnut.com/l/_4XOv4YvpKWsA
https://dl.doubtnut.com/l/_F3CWdQENS5tV


Trigonometry

tin sheet is made into an open box by folding up the flaps . Find the

capacity of the box formed.

Watch Video Solution

1. If cos A = 0.5 and cos B =  , find the value of 

Watch Video Solution

1

√2
:

tanA − tanB

1 + tanA tanB

2. If cos  find the value of ,

Watch Video Solution

A = 4 sinA, 4 cos2 A − 3 sin2 A + 2

3. If  find : 


angla A

4 cos2 A − 3 = 0 and 0∘ ≤ A ≤ 90∘

https://dl.doubtnut.com/l/_F3CWdQENS5tV
https://dl.doubtnut.com/l/_6FeijTxXORUe
https://dl.doubtnut.com/l/_lnOzP1aifKjt
https://dl.doubtnut.com/l/_rxaRB8ZTKf9J


Watch Video Solution

4. If  find : 


cos 3A

Watch Video Solution

4 cos2 A − 3 = 0 and 0∘ ≤ A ≤ 90∘

5. If  find : 


Watch Video Solution

4 cos2 A − 3 = 0 and 0∘ ≤ A ≤ 90∘

tan2 A + cos2 A

6. If 2 cos (A-B) = 2 sin ( A+ B)  find the value of acute angles A

and B .

Watch Video Solution

= √3

https://dl.doubtnut.com/l/_rxaRB8ZTKf9J
https://dl.doubtnut.com/l/_3gNyb3f662G0
https://dl.doubtnut.com/l/_D1PMVE2gdBE8
https://dl.doubtnut.com/l/_A5xAyjTTopAW
https://dl.doubtnut.com/l/_xD50Hatuwl6m


7. If cos , find the value of 


Watch Video Solution

A =
9

41

− cot2 A
1

sin2 A

8. If , find all possible values of A

Watch Video Solution

(2 cos 2A − 1)(tan 3A − 1) = 0

9. If tan A =1 and tan b =  , evaluate : 

cos A cos B - sin A sin B.

Watch Video Solution

√3

10. If tan A =1 and tan b =  , evaluate : 

sin A cos B+ cos A sin B.

Watch Video Solution

√3

https://dl.doubtnut.com/l/_xD50Hatuwl6m
https://dl.doubtnut.com/l/_EKR3nU1neTOk
https://dl.doubtnut.com/l/_RzANApH7LMJE
https://dl.doubtnut.com/l/_uGmoEghqucKB


Watch Video Solution

11. Find the value of angle A , if : 

sin 2A = 1

Watch Video Solution

12. Find the value of angle A , if : 

2 sin 2A =1

Watch Video Solution

13. Find the value of angle A , if : 

2 sin A=1

Watch Video Solution

https://dl.doubtnut.com/l/_uGmoEghqucKB
https://dl.doubtnut.com/l/_HiUS7wG786p5
https://dl.doubtnut.com/l/_2V8hSXbXXRkY
https://dl.doubtnut.com/l/_T3IJ5VZNUgBj


14. Using the given figure , find the value of angle A , if : 

(i) x= y 

(ii)  

(iii)  

Watch Video Solution

x = √3y

√3, x = y

https://dl.doubtnut.com/l/_sB0rHRPGRPwi


15. Find the 'x' in each of the following 

Watch Video Solution

https://dl.doubtnut.com/l/_7NhdOeqdqDhF


16. In the figures given below , find AB: 

Watch Video Solution

17. In the given figure  Find : 


(i)  


(ii) 


∠B = 90∘ and ∠ADB = x ∘ ,

sin∠CAB

cos2 C ∘ + sin2 C ∘

https://dl.doubtnut.com/l/_5VCchucbwquo
https://dl.doubtnut.com/l/_6OxSLTLRXq1n


(iii)  


Watch Video Solution

tanx ∘ − cos x ∘ + 3sinx ∘

18. Evaluate : 

Watch Video Solution

tan 25∘ tan 65∘ − cot 25∘ cot 65∘

https://dl.doubtnut.com/l/_6OxSLTLRXq1n
https://dl.doubtnut.com/l/_SG0c6YYxhbd5


Co Ordinate Geometry

19. Evaluate : 

Watch Video Solution

+ −
sec 42∘

cos ec48∘

3tan 50∘

cot 40∘

2cos 43∘

sin 47∘

20. In  

Evaluate : cosec A cos C - sin A sec C .

Watch Video Solution

ΔABC, ∠B = 90∘

21. For triangle ABC prove that 

Watch Video Solution

sec( ) = cosec
A + B

2
C

2

https://dl.doubtnut.com/l/_t6CSXwy2XVrg
https://dl.doubtnut.com/l/_mvhtE9up9aMT
https://dl.doubtnut.com/l/_GrgsSiIus9yr


1. Name the independent and the dependent variables of the

following equations: 

Watch Video Solution

y = 2x + 5

2. Name the independent and the dependent variables of the

following equations: 

Watch Video Solution

x = 8 − 2y

3. Name the independent and the dependent variables of the

following equations: 

Watch Video Solution

x = y + 4
3

2

https://dl.doubtnut.com/l/_9YhvUmChfOqr
https://dl.doubtnut.com/l/_iWbZYOfgyObf
https://dl.doubtnut.com/l/_p6pZiv9ChPLb


4. Name the independent and the dependent variables of the

following equations: 

Watch Video Solution

y = − 5x − 8

5. For equations given below find the slope and the y- intercept. 

Watch Video Solution

3x + 2y + 4 = 0

6. For equations given below find the slope and the y- intercept. 

Watch Video Solution

x − 3y − 8 = 0

https://dl.doubtnut.com/l/_NJCA0pHisRxm
https://dl.doubtnut.com/l/_u7t1STAzLeOz
https://dl.doubtnut.com/l/_YBwLQkbjdkrM


7. For equations given below find the slope and the y- intercept. 

Watch Video Solution

x + y + 4 = 0

8. For equations given below find the slope and the y- intercept. 

Watch Video Solution

x = 3y + 2

9. For equations given below find the slope and the y- intercept. 

Watch Video Solution

y = 5 − 4x

https://dl.doubtnut.com/l/_YF7jZuMyeTkN
https://dl.doubtnut.com/l/_0Iv1Ib4p58om
https://dl.doubtnut.com/l/_KPbZDAd8lGs5


10. For equations given below find the slope and the y- intercept. 

Watch Video Solution

2y + 5 = 0

11. Find the equations of the lines , whose : 

slope =- 4 and y- intercepts = 2

Watch Video Solution

12. Find the equations of the lines , whose : 

slope = 0 and y- intercept =- 5

Watch Video Solution

https://dl.doubtnut.com/l/_oi7Mx00hs0mu
https://dl.doubtnut.com/l/_HPqZNHpqNkVs
https://dl.doubtnut.com/l/_BJW1NYTtP3jy


13. Find the equations of the lines , whose : 

slope = 3 and y- intercept =4

Watch Video Solution

14. Find the equations of the lines , whose : 

slope = 1 and y - intercepts =-5

Watch Video Solution

15. Find the distances between the points 

(2,-5) and (7,7)

Watch Video Solution

16. If A = (x,-7 ) , B = (2,5) and AB = 13 units , findx.

https://dl.doubtnut.com/l/_3Iks8vHY5giU
https://dl.doubtnut.com/l/_CGOnLfDOgC9Y
https://dl.doubtnut.com/l/_ciAoM67CseYg
https://dl.doubtnut.com/l/_b4BsF2Yr7LtO


Watch Video Solution

17. A is a point on x- axis, and point B (5,-4) and AB = 5 units find the

co-ordinates of A.

Watch Video Solution

18. Show that A (0,0) , B(5,5) and C (-5,5) are vertices of a right angled

isosceles triangles.

Watch Video Solution

19. Show that the points A(6,4) , B(9,7) and C(11,9) are collinear.

Watch Video Solution

https://dl.doubtnut.com/l/_b4BsF2Yr7LtO
https://dl.doubtnut.com/l/_nFRB3TrmDvqg
https://dl.doubtnut.com/l/_CeYyibxtyV9d
https://dl.doubtnut.com/l/_vMjbgwWKfEBm


20. What point on y-axis is equidistant from the points (7,6) and

(-3,4)?

Watch Video Solution

21. Calculate the distance between A (7,3) and B on the x-axis whose

abscissa is 11.

Watch Video Solution

22. A is a point on the y-axis whose ordinate is 5 and B = (-3,1) .Find AB.

Watch Video Solution

23. Show that the point (2,2) is equidistant from the point (-1,-2) and

(-3,2) .

https://dl.doubtnut.com/l/_pT78IMIfQxdW
https://dl.doubtnut.com/l/_D8tIkNrA5PEc
https://dl.doubtnut.com/l/_Td1F0H6CwjNg
https://dl.doubtnut.com/l/_Qm4iDn0bGdWt


Graphical Solution

Watch Video Solution

24. The distance between the points (1,3) and (x,7) is 5, find x.

Watch Video Solution

1. Solve the following paris of linear (simultaneous) equation using

method of elimination by substution: 

2x - 3y = 7 

5x + y = 9

Watch Video Solution

2. Solve , graphically : 


15x − 8y = 29

https://dl.doubtnut.com/l/_Qm4iDn0bGdWt
https://dl.doubtnut.com/l/_o0dvKQ4g5xSo
https://dl.doubtnut.com/l/_FJri6QUwPxYm
https://dl.doubtnut.com/l/_LpeBwVYT50i4


Watch Video Solution

17x + 12y = 75

3. Draw the graph of straight line  use your graph of

find : 

the intercept on y-axis

Watch Video Solution

y = − 2x + 3

4. Draw the graph of straight line  use your graph of

find : 

the area between the line and co-ordinates axes .

Watch Video Solution

y = − 2x + 3

https://dl.doubtnut.com/l/_LpeBwVYT50i4
https://dl.doubtnut.com/l/_QQTe3ffRz3KA
https://dl.doubtnut.com/l/_dgHtZ7Jr02x3


5. Find the graphically, the vertices of the triangle whose sides have

the equations  and  respectively.

Take 1 cm=1 unit on both the axes.

Watch Video Solution

2y − x = 8, 5y − x = 14 y − 2x = 1

6. From a point 20 m away from the foot of a tower, the angle of

elevation of
the top of the tower is . Find the height of the tower.

Watch Video Solution

30∘

7. On the same graph paper, draw the straight lines represented by

equations : 

x= 5 , x+ 5= 0 , y + 3=0 and y = 3 

Also find the area and perimeter of the rectangle formed by the

intersections of these lines.

Watch Video Solution

https://dl.doubtnut.com/l/_heG64HWOsnL7
https://dl.doubtnut.com/l/_g6mPIC2l1YwX
https://dl.doubtnut.com/l/_12frhM6ioC1d


Watch Video Solution

8. On a graph paper, mark the points A(-1,-1) and B(2,5) Draw a straight

line passing through A and B. If points (m,4) and (0.5,n ) lie on this

line , use graphical method of finding the values of m and n .

Watch Video Solution

9. A triangle is formed by the straight lines

, find graphically 


the co-ordinates of the vertices of the triangle

View Text Solution

x + 2y − 3 = 0, 3x − 2y + 7 = 0 and y + 10 = 0

10. A triangle is formed by the straight lines

, find graphically 


the area of the triangle.

x + 2y − 3 = 0, 3x − 2y + 7 = 0 and y + 1 = 0

https://dl.doubtnut.com/l/_12frhM6ioC1d
https://dl.doubtnut.com/l/_rCUH5C9otWS4
https://dl.doubtnut.com/l/_yQANhBS5HY0C
https://dl.doubtnut.com/l/_a4qyDLPMvLF6


Watch Video Solution

https://dl.doubtnut.com/l/_a4qyDLPMvLF6

